EARAZROREIERT — 2 N—XBISY —F 20135F4821H (BH) 1EEH6H

WAl 771 FILL—X C2 5% —#% ‘ [X] % ‘ [eEmE] - | 4 (£) 13000 F&
[A&4£] 1% :100,000 ™ ~ 23#&:25000M”  33%&:12,000 M  43%&:8,000H ~ 53 :5,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
< . LHFE :27. —6-6- . — E#EEE (SH)
el 7r3—v1> o4 T 1(2_7)3 6-6-6-4 | 40.6 4 :1_431) At
R:voNnNygh7r B:vyFx—7414KIL AT s
e 410 | KFAE 1:27.4 6-7-3-2 |41.0| — 1 445 | MBS (BH)
1S 5.0 i Co | FuimE
R:TFyr8%Y—F B:arFuds—> INEF 415
. N LNk GIN : 00— — MAARER) (SH)
N DB Y it 5 2 (17;2;;1) 2-2-2-1 | 41.3 2 <5+318) *Z‘NSIE
L:70%%% B4 —-ILTN—E— HET7—L
o7 | BIE— 1:27.4 1-11-11-4 | 40.2 | — 11 454 | RER (SH)
4l7/9lENY2-T> 56.0 (F4%) 2) RN
RiZa—-1>9730 8K B:YFIx NG Y
. N AAH : 43— — Arhfh— (FH)
1 - NAEEAE P WAS o 54.0 (11'217/27) MR R 6 :323; STOES
R /F¥LLy b BTSAHLZA— b HET7— L
7= > 48 | HBEEX 1:28.0 10-8-8-9 [41.0 — 9 | 485 |/IHBE ()
oWl 4| L7772 56.0 (1 1/2) (-p) | EHIESE
RL:d—IRK7Ya—Ib B:7zILES A &
. [BEREE : —1-1- — HRE®R (BH)
705l 5| K—U——v> it 4 o 1(72?:; 1-1-1-3 | 42.1 10 ;1_510) Bl
RihTAZT BiuArLY—F N7 7 — L
N R P FEILaE : —10-7- — THER (FH)
glglio| RW—¥TU—> 9 | BEUER 1(52/%3 8-10-7-7 | 41.4 8 (4:3‘3 e
R:RF¥ra—YI—I K BNCTELTYY T R4S
- N HEEED 128. -5-9- . - AFEZ (FH)
ol 1] 1|=rRL 1t 6 oa 1(238)9 8-5-9-10 | 42.2 3 (4_924) i
RA=I X424 B: TR/ =T EvJILy RT77—L4
S =1]ES 129, -3-3- 8| - THBRE (SH)
10 2| XTI XFaEN it 6 50 (11 219/22) 387|428 ! tg? HRAE
RTITRRAFTL BRAZAUT S EvilLy RTp—L
- - THER . 10 _ wEE (EH0
1zl g| 7—wkx—¥ i 5 i 1.(229>.6 4-8-10-11 | 42.8 5 <4+751) mes
RiA—JINH7x BoAFv> TR ORR
® I —F—@EBIERL
| 2=zr= 5,6,7,(2,8),(3,11),(1,10),4,9
2= = 5,6,2,7,1,11,3, (4,8) ,10,9
30—7+— 5,6,(2,3,7),11,10,4,1,8,9
40—+ — 6,3,5,(9,11),7,(2,10) ,4,1,8
[ N3
BB 1 540M 714K 3-11 830M % E 3-8 1,710M 3EHE 3-6-11 3,350/
8 B 1 260M 6-11 480M B & 3-11 2,590 K31 11-3-6 27,6204
3 140/ 3-6 380 B H 11-3 4,710M
6 170

ABICOVWTRDTEEERROODE. TR LIV,



